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&XUUHQWO\��6HQLRU�$SSUDLVHU�ZLWK�1HW�/HDVH�$SSUDLVDOV��
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,QGHSHQGHQW� UHDO� HVWDWH� IHH� DSSUDLVHU�� ����� �� 3UHVHQW�� � 2YHU� ��� \HDUV� RI� H[SHULHQFH� LQ� WKH�
DSSUDLVDO�DQG�YDOXDWLRQ�RI�UHDO�SURSHUWLHV���&RPPHUFLDO�DSSUDLVDO�H[SHULHQFH�LQFOXGHV��DSDUWPHQW�
FRPSOH[HV�� VXEGLYLVLRQV�� LQGXVWULDO� SURSHUWLHV�� RIILFH� EXLOGLQJV�� PHGLFDO� IDFLOLWLHV�� VKRSSLQJ�
FHQWHUV�� UHVWDXUDQWV�� KRWHO�PRWHOV�� UDQFKHV�� VSHFLDO� SXUSRVH� SURSHUWLHV� DQG� YDULRXV� FRPPHUFLDO�
ODQG� WUDFWV� IRU� PRUWJDJH� EDQNHUV�� EDQNV�� VDYLQJV� DQG� ORDQ� DVVRFLDWLRQV�� LQVXUDQFH� FRPSDQLHV��
DWWRUQH\V��SULYDWH�LQGLYLGXDOV��SXEOLF�XWLOLWLHV��DQG�JRYHUQPHQWDO�DJHQFLHV��

&RPSOHWHG�DSSUDLVDOV�LQ�WKH�'DOODV�)RUW�:RUWK�DUHD�DQG�RWKHU�SDUWV�RI�7H[DV�DV�ZHOO�DV�$ODEDPD��
$UNDQVDV��&DOLIRUQLD��&RORUDGR��*HRUJLD�� ,GDKR�� ,QGLDQD�� ,RZD��.DQVDV��0LFKLJDQ��0LVVLVVLSSL��
0LVVRXUL�� 1HEUDVND�� 1HYDGD�� 1HZ� 0H[LFR�� 1RUWK� &DUROLQD�� 1RUWK� 'DNRWD�� 2NODKRPD��
3HQQV\OYDQLD��7HQQHVVHH�DQG�:LVFRQVLQ��

*UDGXDWHG�IURP�6RXWKZHVW�7H[DV�6WDWH�8QLYHUVLW\��%�%�$���)LQDQFH��
&RPSOHWHG�FROOHJH�DQG�$SSUDLVDO�,QVWLWXWH�FRXUVHV�LQ�UHDO�HVWDWH�DSSUDLVDO��

��6WDQGDUGV�RI�3URIHVVLRQDO�3UDFWLFH�$�	�%��
��3ULQFLSOHV�RI�5HDO�(VWDWH�$SSUDLVDO��$����
��%DVLF�9DOXDWLRQ��$���
��&DSLWDOL]DWLRQ�7KHRU\�	�7HFKQLTXHV��3DUW�$��
��&DSLWDOL]DWLRQ�7KHRU\�	�7HFKQLTXHV��3DUW�%��
��$GYDQFHG�,QFRPH�&DSLWDOL]DWLRQ�������
��$GYDQFHG�6DOHV�&RPSDULVRQ�DQG�&RVW�$SSURDFK�������
��5HSRUW�:ULWLQJ�	�9DOXDWLRQ�$QDO\VLV�������
��+LJKHVW�DQG�%HVW�8VH�DQG�0DUNHW�$QDO\VLV�������
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$335$,6(5���&HUWLILHG�$SSUDLVHU��7;���������*���6WDWH�RI�7H[DV�


